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QUESTION 1

When a component is deleted, what happens to objects in a component\\'s namespace?
A. objects are deleted

B. only those objects that participate in shared aggregations are retained

C. objects continue to exist

D. contents of the component\\'s namespace are promoted to its superclass

Correct Answer: A

QUESTION 2
What is NOT a standard stereotype of an OCL constraint?
A.

B.

Correct Answer: B

QUESTION 3

By what means can a design document be associated with the component it describes? (Choose three)
A. import

B. dependency

C. association end subsets

D. ownership

E. inheritance

F. power types

Correct Answer: ABD

QUESTION 4
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What is a protocol state machine used to define?

A. the state machine that corresponds to an interaction specification

B. the valid operations for invoking the behavioral features of a classifier
C. an interaction between two state machines

D. the state machine of a protocol object

Correct Answer: B

QUESTION 5

What does the protocol conformance between two protocol state machines mean?

A. all triggers in the two protocol state machines must be the same

B. the specific state machine must abide by the behavior of the general state machine

C. the general state machine must abide by the behavior of the specific state machine

D. the two protocol state machines must be the same

E. the specific state machine must have the same number of states and transitions as the general machine

Correct Answer: B
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